-2 H\S"mgmms MS. KEY:
P * 2%
@ \\+4 = \e5S Fham o = 8999 D 30 countnig

5 — ol &
. ® Ax [0
AL JEEeN LO% 21+A+10x bt +3

25 19

@ ot very \‘\“"“j - only Z owro$25

owe \9oo0 £y w Yol @ 143 Y4 rgo
Zo - S0 '
@ Con not be delrmined - \We onl
Lnow He hu%m of Tallest cant delormine

Val cono wn e inderval, 2xact s1ze, Some-

. whue bedween V\-200,
® -Dequv\\v?m(m Yowr \ndervals
S

ow Wi by Look d
+als Okv..
. eath
O\ i\; t W Sat T Wouxs W
2qoes mwes -0 | § ¢ + QXM\S\V\S PRl et
b goes w here » L-9 | B ©
B 4-12 | 2 ‘g |
|2"|5‘ | b ol
‘——1‘,
3 b q i T | ~
Howr s
vt
@ i+ | # i) INeE- speed

0-25 =3 a4 W\‘Ph gb\cckd

;'3’_’5; 12 - Kovmals

15 -100 vYE

|00-125 F :

12515V N

\60—\15 1 1 2 '-1 '

\15-200] ) | 55T ik | 4



-2 cont
AD sy
GrS«d+\¥|

12 can not be delermined

(3) Tupacal solareclipse laskd
LAwn | Sec amd Smins, b
\ ocowrred. only 5 lasted
Lo Smin Isec b 2 min3DSec.,

@ I\ c,c,\\.e%

() Seatle
?f‘HS\oMj
D Satle

342 4\ +\ .8 i
StHo+ded iy, 272 P '
ov \f you ’\Wmﬂ\n-l' 800 -899 bObunU\V{gs

then % =.335% :‘35.3%’

Speabhic Wewhys ove ot given
?C%O CcmhoS{» \GCM/M\g .
Some Whre orwn 4.00-449 L4




